MIAMIDADE

MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.buildingcodeonline.com

EFCO Corporation

1000 County Road

Monett, MO 65708

SCOPE:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control
Division and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and
other areas where allowed by the Authority Having Jurisdiction (AHI).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Series 3014 Aluminum Sliding Glass Door w & w/o Reinforcement - S.M.I
APPROVAL DOCUMENT: Drawing No. 96-1219-04, dated 03/28/01, with revision C1 dated 10/21/03,
titled “S-3014 Sliding Glass Door (Small Missile Impact)”, sheets 1 through 5 of 5, prepared by W. W.
Schaefer Engineering & Consulting, P.A., signed and sealed by Warren W. Schaefer, P.E., bearing the
Miami-Dade County Product Control Renewal stamp with the Notice of Acceptance number and expiration
date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement
of any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure
to comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed,
then it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the Job site at the request of the Building Official.

This NOA renews NOA # 03-1113.02 and consists of this page 1, and evidence pages E-1 and E-2, as well
as approval document mentioned above.

The submitted documentation was reviewed by Manuel Perez, P.E.

NOA No 05-1212.15

Expiration Date; October 02, 2010
Approval Date: July 13, 2006
Page 1




EFCO Corporation

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS

1.
2.

Manufacturer's die drawings and sections.

Drawing No. 96-1219-04, dated 03/28/01, with revision C1 dated 10/21/03, titled “S-

3014 Sliding Glass Door (Small Missile Impact)”, sheets 1 through 5 of 5, prepared by

W. W. Schaefer Engineering & Consulting, P.A., signed and sealed by Warren W.
Schaefer, P.E.

B. TESTS

1.

Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Small Missile Impact Test per SFBC, FBC, TAS 201-94,
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 2411 3.2.1, TAS 202-94
along with marked-up drawings and installation diagram of a series 3014 aluminum
sliding glass door with and without reinforcement, prepared by Hurricane Test
Laboratory, Inc., Test Report No. HTL-0046-0819-96, dated from 08/27/96 to
10/02/96, signed and sealed by Timothy S. Marshall, P.E.
“Submitted under NOA# 03-1113.02”
Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC,TAS 202-94
2) Forced Entry Test, per FBC 2411 3.2.1, TAS 202-94
along with marked-up drawings and installation diagram of a series 3014 aluminum
sliding glass door with and without reinforcement, prepared by Hurricane Test
Laboratory, Inc., Test Report No. HTL -0046-0418-02, dated 06/12/03, signed and
sealed by Vinu J. Abraham, P.E.
“Submitted under NOA# 02-0722.01”
Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
2) Forced Entry Test, per FBC 2411 3.2.1, TAS 202-94
3) Large Missile Impact Test per FBC, TAS 201-94
along with marked-up drawings and installation diagram of a series 3014 aluminum
sliding glass door with and without reinforcement, prepared by Hurricane Test
Laboratory, Inc., Test Report No. HTL -0046-0524-03, dated 06/12/03, signed and
sealed by Vinu J. Abraham, P.E.
“Submitted under NOA# 02-0722.01”

’ Manuel Perez
Product Control Ex

\72//4»%@

r

NOA No 05-1212.15
Expiration Date: October 02, 2010
Approval Date: July 13, 2006

E-1



EFCO Corporation

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

C. CALCULATIONS

1.

Anchor Calculations and structural analysis, complying with FBC-2004, prepared by
W. W. Schaefer Engineering & Consulting, P.A., dated 06/06/01, signed and sealed by
Warren W. Schaefer, P.E. Submitted under NOA# 03-1113.02

Complies with ASTM E1300-98

Anchor Calculations, ASTM-E1300-98, and structural analysis, prepared by EFCO
Corporation, dated 10/15/96, 6/3/97 and revised on 02/08/01, signed and sealed by
Richard DiBlasi, P.E. Submitted under NOA# 00-1031.03

D. QUALITY ASSURANCE

1.

Miami-Dade County Building Code Compliance Office

E. MATERIAL CERTIFICATIONS

1.

Notice of Acceptance No. 01-0205.02 issued to Solutia, Inc. for their “Saflex/Keepsafe
Maximum” dated 05/17/01, expiring on 05/21/06.

F. STATEMENTS

1. Statement letter of conformance, dated July 26, 2005, signed and sealed by Warren W.
Schaefer, P.E.

2. Laboratory compliance letter, as part of the above referenced test reports, issued by
Hurricane Test Laboratory, Inc, HTL -0046-0524-03 and HTL-0046-0418-02, dated
06/12/03.
“Submitted under NOA # 03-1113.02”

G. OTHERS
1. Notice of Acceptance No. 03-1113.02, issued to EFCO Corporation for their Series

3014 Aluminum Sliding Glass Door-w & w/o Reinforcement — Small Missile Impact,
approved on 01/15/04 and expiring on 10/02/05.

M/// :
Z “Manuel Perez:0.E.
Product Control w er
NOA No 05-T212.15
Expiration Date: October 02, 2010

Approval Date: July 13, 2006
E-2



—~

144" (MAXIMUM WIDTH)

4 AT TOP & 3 AT BOTTOM MEETING
RAIL LOCATIONS SPACED 3" O.C.

TYPICAL INSTALLATION INTOQ

WOOD FRAMING OPENING

(USING LAG SCREWS)

W.W. SCHAEFER JOB NO. 1041

¥ kY 2 AT EACH CORNER
2 SPACED 3" 0.C.
* " * * * % * ¥ * * » ¥ ¥ » il‘ ‘/
/T0\ /N B\ \ ONE AT 1/5 POINTS
W 37 37 " OF SIDE JAMBS
n o
96" . a3 3 —3/8" S.S. BOLT FASTENED THROUGH
MAXIMUM — |2 { MIN. 1.5" THICK WOOD FRAMING WITH
HEIGHT g N WASHER & NUT AT MIN, 1 1/2°
Zla WOOD EDGE DISTANCE (MIN. WOOD
- *I1] 42 1/2" MAX. DLO N «  G=055). POSITION AS SHOWN.
x TYP. ALL PANELS I
s | ™ " t
w5 -1 10 10 s 1f 2 AT MEETING RAILS LOCATION ONE AT MID POINT OF EACH
%3 +l| HR3g /S, SPACED 5" 0.C. (TYP. AT HEAD PANEL BETWEEN VERT, & JAMBS
T t OF ROLLERS \O I\ OPP. AND SILL)—\ 144" (TYP. AT’HEAD & SILL)
e o \2/0lo = }
- % * * ¥ * » l * %k * * * ¥ l ‘__l 1 1
; . . 5" 5" 5" goo] L 2 AT EACH CORNER
.Hi .Hi .l‘j_ I,H* ll* 2 'H‘ ﬂ/-SPACEDs"O.C‘A
. A * * * * # &1
2" ; 1
ELEVATION ] f— H
e oo VAT /7N /8\ |
TYP:CAECI/;;ETAiﬁT;r: INTO e s S 3/ ! AR
POINTS OF
WOOD FRAMED OPENING e & . / SIDE JAMBS
(USING THRU-BOLTS WITH WASHER NUT) 96 alg .
S AN T
=
4 INTO CONCRETE & MIN.~
4 AT TOP & BOTTOM MEETING - 42 1/2" MAX. DLO = CONCRETE EDGE DIST = 47
,, RAIL LOCATIONS SPACED 3" 0.C. |& TYP. ALL PANELS olE 11N POSITION AS SHOWN.
144" (MAXIMUM WIDTH) Ay » ~4H10" 10" 2 N4/ =
2 AT EACH CORNER :§ HR39 oPP.
& C OF ROLLERS
2 oo@oo
e * * - i * % ]t - * * X l
; .J 5" ’J 5 ’} 5 ——ll s
9\ YAAN /8\ /BN _—ONE AT 1/5 PONTS
ey \3/ \3/ \%/ OF SIDE JAMBS ELEVATION 2"
P P ™
. . SCALE 3/8"=1
96" 24 - 3/8" S5. LAG BOLTS WITH MIN. TYPICAL INSTALLATION INTO MIN (ve.)
MAXIMUM — %1% EMBED = 3° INTO WOOD FRAMING 5000 bl RE—INFOR NCRETE OPENIN
HEIGHT 4 & MIN. WOOD EDGE DIST. = 1.5"
] (MIN. WOOD G=0.55). POSITION (USING CONCRETE ANCHORS)
- *| 42 1/2" MAX. DLO 4= N AS SHOWN.
o
"33_: TYP. ALL PANELS . ., ol
D - 10 10 3
¥5 +|ll HR39 .
c £ OF ROLLERS \o DESIGN PRESSURE
= [e] o'0
' (NO REINFORCEMENT)
- * * * EEkE ¥ I * e * * * % .
3" 3" .l 3" POSITIVE | NEGATIVE
ELEVATION . 2" 55 PSF 55 PSF
SCA| "=1'
LE 3/8"=1 ve)

DESIGN PRESSURE
(W/STEEL REINF.)

POSITIVE

NEGATIVE

100 PSF

100 PSF

. DRAWN BY: CHECKED BY:
ITEM | # REQD | PART # DESCRIPTION .. > MFG. WW.S WW.S.
PLOT: ATE: o1
1 1| 3200 |HEAD (5.875 X 2.875 X 0.125 0/ALL) EFCO e
2 1 3201 [SILL (4.456 X 4.108 X 0.125 0/ALL) EFCo ol
wSS
3 2 3202 |JAMB (4.456 X 1.375 X 0.08 0/ALL) EFCO ||& Sg
4 2 3211 {LOWER FIX PANEL RAIL (1.75 X 3.35 X 0.08 O/ALL)| EFCO Ti=
w
5 2 3210 |LOWER SASH RAILS (1.75 X 2.671 X 0.08 O/ALL) EFco ||15]Z|€
6 2 3209 |UPPER SASH RAILS (1.75 X 1.823 X 0.08 O/ALL) EFCO o
7 1 3204 |SASH MEET. RAILS (2.002 X 4,299 X 0.125 O0/ALL) | EFCO z| |E
8 1 3170 |FIXED PANEL MEET RAIL (2.189 X 2.174 X 0.15 O/ALL) EFCO_fIE} |
9 12 | 3765 |GLAZ. BEAD (0.71 X 0.938 X 0.08 0/ALL) EFCO_fi5lelx
10 |AS REQD| WEB4 |DRIVE-IN WEDGE TREMCO a g S
1 3 HBB1 |JAMB CAMS o |13 i I=
12 3 STC6 [#6—18 x 3/8" PL TH SMS H EID
13 1 3178 |FIXED PANEL CLIP EFco_|I*1Z|8
14 1 3179 |THRESHOLD eErco  Ist=1=
15 1 3182 |HEAD CLOSURE EFCO [l=d=ls
16 1 3150 |HEAD CLOSURE EFCO
17 1 3151 {HEAD CLOSURE EFCO @
18 1 HSQ2 |SOBINCO HARDWARE A ©
19 2 HR39 |SASH ROLLERS REFLECTOUTE || -~ < M
20 4 SFQ2 {#6—18 x 1/2” PL FH SMS Q 83
< z
21 1 HSQ3 [SOBINCO THUMBTURN Ao al & .?m
22 4 MFG3 [#10-24 x 1 3/4” PL OH = = gooco
23 |AS REQD| WF02 {TRI—SEAL WSTP ULTRAFAB || L g '_,9 <+
24 |AS REQD 0.125 X 0.375 BUTYL GLAZING TAPE REMCO & | & g%i
25 |1 PAIR | HO68 [FRAME GASKET (HEAD) Ay g o Sog
26 | 1 PAR | HOB69 |[FRAME GASKET (SILL) el g O ==
27 | 4 | (B32 [SASH GUIDES sastes || 2| 8 22'2-8
28 40 | SLQ3 |#8-18 x 1 1/4” PL PH >3 I =
29 |AS REQD| JJ42 |3/16" CAP BEAD DC795 WL 85
30 7 | MTUT [#10-24 x 3/8" PL TH '
31 1 3184 |SUBSILL (4.831 X 0.625 X 0.125 O/ALL) EFCO 8 RS
32 1 3896 |KEEPER EFCO apR <
33 1 3897 |HARDWARE HOUSING n |2
34 1| HB12 |SASH STOP" 6" LeNGTH SLASTICS g =
35 6 STK5 |#10-16 x 3/4" PL PH TEK ol o 3
36 1 3171 |MEET. RAIL CLOSURE EFCO ol 2 3
37 2 QS1_|HOLE PLUGS (3/8") HEYCO | Z | & 2R
38 1 WNA1T [ARROW SHIM TREMCO |l © | W< oB L
39 4 SFP1_|#10—12 x 1" PL FH a| 5.8
40 1 3208 |SASH SIDE RAIL 3.348 X 4.75 X 0.08 O/ALL) EFCO + | G ‘jmgg
- = w
41 1 3205 |MEETING RAIL (2.315 X 4.456 X 0.125 O/ALL) EFCO Sl «ZE5
42 1 3937 |MEET RAIL CLOSURE (0.615 X 1.924 X 0.125 O/ALL} EFCO 1 55 T2y
43 [AS REQD SILICONE GE#1200 GE ] bR &°F
ALTERNATE LOCK HARDWARE: "SASH CONTROL™ LOCK ASSEMBLY PART #HS55 & D] xZz 338
KEEPER PART #HSTO ] 059 Zan
: = EARC =2
NOTE: FRAME AND DOOR MATERIAL ARE o 53-55 §§“_’,
ALUMINUM 6063~T6 N ®Z
P4 O = =
FRAME CORNER ASSEMBLY — MILLED o o= 2
AND MECHANICALLY ASSEMBLED. u
SASH CORNER ASSEMBLY — MILLED o e
AND MECHANICALLY ASSEMBLED. S &9
Q{N i
Qoo \ <%
Slew N3¢
PRODUCT RENEWED PRODUCT REVISES, RN\
. ing with the Florida & complying v . o fd h ul
as complying Buiding ¢ 5" b the Florida wles N Teal
Buiding Cede 05- ’2’\5 g Code ol \'gu
Acceptance NO o :m VE
Expiration Date ES
By DRAWING NG. |REV.
‘Diiam 96--1219-04| C
Divig SHEET NO.
© 1996, 2001, 2003 EFCO CORPORATION L RIGHTS RESERVED 1 OF 5




g _ i

el DRAWN BY: |CHECKED BY:
7 W.W.S. W.W.S.
' pLot DA;.'ES:/ZS/ (]
7491 (5.595" X 2.545" X 0.4" THK O/ALL) 7491 (5.585" X 2.545" X 0.4” THK O/ALL) 1:.5
7" LONG @ VERTICAL MEETING RAILS 11" LONG @ VERTICAL MEETING RAILS—\ g
AND @ JAMBS \ AND 6" LONG @ JAMBS 5.875" Ul
. <F N
\ 5N
v
- \ X < & Z
/'7482 f7482
3 i‘-”v’\/‘MNJW’\/‘MN\I‘J‘u*Nv‘\/\NW\‘\A/‘«\' .r________l E‘\-N“J\N\M/\/‘MAM“M'/N”J‘v‘uWJ\/\Mf\I ’.__..__q
' L / L] L HEAD 3
1.812 H ! 1.812 / ! 4
/ 3/8" SS HILTI KWIK BOLTS | / 3/8" BOLT FASTENED THROUGH { " ala
i M‘I.N|MUM EMBED. 2 1/2" IN CONCRETE i | WéOD FRAME WITH WASHER AND i = 2.875 =] =
J 4" MINIMUM EDGE DISTANCE i ! NUT. TO LOCATION SHOWN ON i zla
| SEE WINDOW ELEVATION FOR PLACEMENT ’; ! WINDOW ELEVATION ] IS
i 1l — weBo : +—— WEBY I
' L_] f L,—l gle
F a’
875 875 ]
cau (9) Ia— e NG &—_ (9) m— (g (3 sfa
l L] 3" FROM EACH END ’ ] ~ 3" FROM EACH END —
24" OC. IN BETWEEN | 24" 0.C. IN BETWEEN
T\ [~ =
/ / = %
30 PPl FOAM Salt . = 30 PRI FOAM 2
WAO4 BAFFLE WAO4 ¥ | — ¥
— (@]
= I ﬁ{l o QO
& GE #1200 & GE #1200 L | z 09
o SILICONE g SILICONE Sl Ssio
w L @ Q = ':Z .00 ©
= = \® o~
2 & = Ul g ~~
& * PRODUCT REVISED = 8 S0 |
23 complying with the Florids Gl 295
] " = Q youn
(2) SFP1 FASTENERS LOCATED - R (2) SFP1 FASTENERS LOCATED : =1l o xx9
AT HEAD END OF FACH VERTICAL IS IS AT HEAD END OF EACH VERTICAL EN 41 o> .©
MEETING RAIL. MEETING RAIL. 1.750 2} O ZES
= by Sw
0 oz
(2) 3178 FIXED PANEL CLIPS > » (2) 3178 FIXED PANEL CLIPS > » ~ OO
54" LONG LOCATED UNDER FIXED PANEL I = 54" LONG LOCATED UNDER FIXED PANEL = - x 15 >
WITH (2) 3178 6 LONG CLIPS ] g WITH (2) 3178 6" LCNG CLIPS ] g o5 8
SPACED EVENLY BETWEEN BOTH 54" y | SPACED EVENLY BETWEEN BOTH 54" " | O [
LONG CLIPS. % LONG CUIPS. % %]Eé PRGD{J!Q; RE_NF!;/E% 4 a g e
#s complying with the Florida 2
| 1 /@ o /@ Buiding Code (% é
= ) g < {®)] (@) ) P ceeptance No O5-1212.15 g
() » 1 spiration Date OcT. ODId || & 3
) A | 2 2 3.
illH HlH By T2 2l & Re4
i » : ﬁagmﬁaﬂe ?mducﬁﬁ?sm@— 5 H<. o2n
~ 7 Lot AR 13154 | —Z-D_: L'l_-l °
wn o 3.0
@\ @\ Zz .00y
p ~ WO Jag
(@] X~ Qo
M Wd >2§
L] L &9
(1) STKS FASTENER LOCATED (1) STKS FASTENER LOCATED 0l <z 53
IN'EACH 3178 6" LONG CUIP. IN"EACH 3178 6" LONG CUIP. oy w0 2an
(5) STKS FASTENERS LOCATED SILL (5) STK5 FASTENERS LOCATED SILL S
4250 IN'EACH 3178 54 LONG CUP. 1/4" X 1" WEEP HOLES < : > IN"EACH 3178 54" LONG CLIP. 1/4" X 1" WEEP HOLES = g3t
i (4 AT THE OPERABLE 4.250 (4 AT THE OPERABLE 4.069 = 23 2%d
PANEL EQUALLY SPACED) PANEL EQUALLY SPACED) Z z_. S
4 GE #1200 GglLﬁézool\?E 2 o= -
1/4" DIA. WEEP HOLES SILICONE 1/4" DIA. WEEP HOLES ]
(LOCATED 6" FROM EACH (LOCATED 6" FROM EACH ) ©ou
o END OF SILL) o END OF SiLL) a
z it
1 F(O) . ] ' g Ei
o 7 4 ' I-_éi g é éo'
375 v J__' 375 7 |___] = “
f f @ NZud
] | P— : 2
3/8" SS HILTI KWIK BOLTS ——— | 3/8" BOLT FASTENED THROUGH — ] 4
MINIMUM EMBED. 2 1/2" IN CONCRETE WOOD FRAME WITH WASHER AND 4.456 £
4” MINIMUM EDGE DISTANCE NUT. TO LOCATION SHOWN ON
SEE WINDOW ELEVATION FOR PLACEMENT WINDOW ELEVATION. I O S
96-1219-04} C
SHEET NO.
W.W. SCHAEFER JOB NO. 1041 © 1996, 2001, 2003 EFCO CORPORATION ALL RIGHTS RESErveD|| 2 OF  §

L



7491 (5.595" X 2.545" X 0.4" THK O/ALL)

11”7 LONG @ VERTICAL MEETING RAILS‘\

AND 6" LONG @ JAMBS |

MEETING RAIL

4.250

3 N
7482 ﬁ:\ . MEETING RAIL
"_____.,..,... E\AN\/MWJ‘M‘\'\‘/‘NJ‘UWMW/\. :
0.125 — ; i .
1.812 i (39 (19
i 3/8" STAINLESS STEEL LAG BOLT
2.875 ! WITH 1 1/2" MINIMUM PENETRATION — T
| | | —
— WEBS
t L_‘ i !
|/ : : j
(? 875 R S W E NI 3=
@\ i) 3" FROM EACH END (22 RS i l '/@ (39
- / R \ H U
1 X 24" 0.C. IN BETWEEN _ 6.144 — T
/ (O = \\3
= 30 PPI FOAM ——
(7 (.
wao4—/ | @"/:n BAFFLE = =
: Lt
& GE #1200
w H ; SILICONE @) @\
™
y & an | &) Q\. NG
& ~3 (19 /
[
(2) SFP1 FASTENERS LOCATED ¥
AT HEAD END OF EACH VERTICAL N i _IL;'
MEETING RAIL.
(2) 3178 FIXED PANEL CLIPS ~ P
54" LONG LOCATED UNDER FIXED PANEL » 4 47 FROM EACH END
WITH (2) 3178 6" LONG CLIPS g : 18”7 0.C. IN BETWEEN
SPACED EVENLY BETWEEN BOTH 54 : :
LONG CLIPS. % W
I%Eé’ L1 /. ML
N (Y (@)
L1 (3) 10 GAUGE x 3 3/8" STEEL
~ REINFORCEMENT. LENGTH= 88"
ATTACHED WITH #10-24 M.S.
3" FROM EACH END AND (1)
AT MID—POINT (3 TOTAL)
,
M~ ’ - 1
@[ / MEETING RAIL
(1) STKS FASTENER LOCATED = A
IN EACH 3178 6" LONG CLIP.
(5) STK5 FASTENERS LOCATED SiLL
IN"EACH 3178 54" LONG CLIP. 1/4” X 1" WEEP HOLES @_____‘
(4 AT THE OPERABLE 4.069
) PANEL EQUALLY SPACED) :
d GE #1200
SILICONE

375

1/4” DIA. WEEP HOLES
(LOCATED 6™ FROM EACH
o END OF SILL)

o”r_];l

9/16” LAMINATED GLASS

(1/4" TEMP/0.09 SOLUTIA SAFLEX
PVB/1/4” TEMP) OR (1/4" HLST./
0.06 SOLUTIA SAFLEX PVB/1/4" HT.ST.)

(49

CROSS SECTIONS

SCALE: " = 1-0"

f

3/8" STAINLESS STEEL LAG BOLT
WITH 1 1/2" MINIMUM PENETRATION

W.W. SCHAEFER JOB NO. 1041

4.456

PRODUCT RENEWED

a5 complying with the Fiorida
Briding Code
Acceptznes No_ 0
Exgiration Dale

© 1996,

PRODUCT e
25 com REVISER

Buiding Coqe.

i

2001, 2003 EFCO CORPORATION

Plyisg wien he Finpidg

AW‘QE(@ W
Expiration B;;;Qs‘llg‘-oz

ALL RIGHTS RESERVED

DRAWN BY: |CHECKED BY:
WW.S. WWS.
PLOT: DATE
1=15 03/28/01
o~ o
<J <]
o o
-4 N
=] B N
w ™~
(=] Q
w v
§ =
=
=
u i
o K
24 v
£181%|2| =
l5ls =
51 K B
w0
w jaia
o w) i
M B E S
Slotz|£l2
ol 1Z2lel~
glelsiglz| | |
o
2lalGls |
9= o
[e)]
(@]
©
5 ole!
x - mw
0. ') o
=] £ 343
= | o 00 O
< 0O~
w o ~
a1 & ..
= S0
(7] 0. 2o
nl €
=| o gox
O —=
31 @ ﬁ:;_:(cja
< O Z-w®
= b D
&l vgz
e OO
a fu =
ol g
15 o
Q o o
alg &
n 2
g g
"
~
CZD & 29«')
= (] é-f,’:
ol weenn
—_ A w -
A =a E 8
n % AT .,
«+ | G0 a4
O FE FOq
e} b, %9
i LD 6%
) Wo 1t
<Z 3Jg®
N IO 25'\
3 [2N'®) .at
= =4S -
= z W Z30
F f_( “ v Jw
D™ ax
z4 S Q0 )
= n o
53 8 = 2
= oF i
ui
28
oy o0
1]
ANl =
= we
Elese <<
S \ z_
s y .
5N \\}ﬁ\\
o \ Z
¢ 3 Lt
L— o
=
ORAWING NO. [REV.
96-1219-04] C
SHEET NO.
3 o D

L

~ ]



—

DOOR FRAME MOUNTED
IN 2x WOOD FRAME

3/8" BOLT FASTENED THROUGH
WOOD FRAME WITH WASHER AND
NUT. TO LOCATION SHOWN ON

WINDOW ELEVATION_

3/8" BOLT FASTENED THROUGH
WOOD FRAME WITH WASHER AND
NUT. TO LOCATION SHOWN ON

WINDOW ELEVATION

i
)

[N ‘.

3/8" SS HILTI KWIK BOLTS
MINIMUM EMBED. 2 1/2" IN CONCRETE
4" MINIMUM EDGE DISTANCE
SEE WINDOW ELEVATION FOR PLACEMENT

Jlorawn By:  [cHECKED BY:
WW.S. WW.S.

PLOT: DATE:
1=1.5 03/28/01

[

<

o

>

[ia]

z

Q

=

o

o

Q

(72}

wh

(=)
w

Z§O

glz

[ B+

cl©

o
=z

Slao

[¢)]
O
<o)
o~ X
JAMB 5 o9
< =z
JAMB JAMB O 2138 570
= = O.oo O
. < 0o~
w 2 ~ <
| O L0 I
= a
@ @ @ AREE
S| 9 o«
O 3
= X : = X 1 =il < g 31 858
1 B | B S| w355
i ! , nl Yasz
5 | 8 , - ( . OO
¥ i L : el =
! ! Q2 o
| : Qlt o
L 1 h s
i 1 n %
! N £
! 3 -
4.456 o % §
ol £ 3.
Z| & O3F
Q) W "hl
a| 358
Zz 20
1.750 < Wo ggg
o i~ ~On
M W, %o
) LS &3
N %(I) gl
 S— 1 wn
~ 2 = Ly 5 =3k
- 0 - E Oo .m |
= £R0 =g
o |5 8530
Z S= QG
FRAME DIMENSION FRAME DIMENSION FRAME DIMENSION = 2~ Z
8= z
ui
o o
Zl e~ EB
9 w
ol e N
2 e \\ 2g
PRODUCT RENEWED Bl e SN
s complying with the Flerida PRODUCT REVIsE: Eles \\‘?‘} s
Buiding Cede ST Ol &= NG
Acceptance No_ 05~ 2.15 &
Expiration Date oro g
By BRAWING NO. ] REV.
Miam 96-1219~04} C
Pivigion
¢ SHEET NO.
" W.W. SCHAEFER JOB NO. 1041 © 1996, 2001, 2003 EFCO CORPORATION ALL RIGHTS REserveDf| 4 oF  §

~ |



2

B AR ERAANANAAN

LERAVKRXANAAN

HEAD TO JAMB FABRICATION

FRAME CORNER ASSEMBLY — MILLED
AND MECHANICALLY ASSEMBLED

SILL TO JAMB FABRICATION

\(1

4 l

DRAWN 8Y: CHECKED BY:

. TENNNH«\‘NM

SIS EASENAL

W.W. SCHAEFER JOB NO. 1041

(2) j WA

R EXRRRARAXAAAAAN

SASH CORNER ASSEMBLY - MILLED
AND MECHANICALLY ASSEMBLED

PRODUCT REVISED
as complying with the Flarida

WS, WWS.
[PLoT: DATE:
1=1.5 03/28/01
I
-3
5
o
z
5
=
a
@
G
@
W
ja]
w
z
1 B
als
1o
=
o)
Zlo

EFCO CORPORATION
1000 COUNTY ROAD; P.0. BOX 609

MANUFACTURER

MONETT, MO 65708-0609
800-221-4169

S—~3014 SLIDING GLASS DOOR (SMALL MISSILE IMPACT)

& CONSULTING, P.A.

DRAWING TITLE

W. W. SCHAEFER ENGINEERING
8895 N. MILITARY TRAI; SUITE C-204

PALM BEACH GARDENS, FL 33410
PHONE: 561-775-4902 FAX: 561-775-4803

CONSULTANTS

PROBUCT RENEWED

as complylng with the Florida

© 1996, 2001, 2003 EFCO CORPORATION ALL RIGHTS RESERVED

o
s

#

o
+ SCHAEFER, P.E.
. /NO. 44135

CERTIFICATION
0CT 2 8 2003
7
o

7

DRAWING NO.

96-1219-04

R

ol WARREN

SHEET NO.

5 of

5

|



